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ENGLISH VERSION

Instructions : (1) Give answers of question no. 1 MCQ in answer

book.
(2) Total five questions. All are compulsory.

(3) Figures to the right side indicate the marks.

1 MCQ.: 20

ey

)

3)

4)

()

On which of the following values of the machine,
depreciation should be calculated ?

(A) Written down value (B) Purchase price

(C) Market value (D) None of the above
Which of the following taxes is deductible from Business
Income ?

(A) Professional Tax (B) Income Tax

(C) Wealth Tax (D) None of the above

Which of the following assets is not included in personal
effects/articles ?

(A) Immovable assets (B) Drawings/paintings
(C) Jewellery (D) All the above articles

Transfer of which type of the following assets gives rise
to capital gain ?

(A) Any Capital Asset (B) Any Asset
(C) Land and Building (D) Shares and Stocks

Long term capital gain is realized if shares of a company
are transferred after

(A) 12 months of acquisition
(B) 18 months of acquisition
(C) 24 months of acquisition
(D) 36 months of acquisition
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(6) Dividend declared by company is
(A) Fully taxable (B) Fully Tax Free
(C) Partly Tax Free (D) Deductible U/S 80 L

(7)  Under which head of following heads of income the
interest earned by the dealer in securities would be
considered ?

(A) As Income from other sources
(B) As Business Income

(C) As Capital Gains

(D) None of the above

(8 Rent received from a sub-tenant of house property would

be treated as income from

(A) Business Income

(B) Income from other sources
(C) House property Income
(D) None of the above

(9) While making the payment of the lottery T.D.S. is to
made at following rate :

(A) 30% + Surcharge B 30%
(C) 30% + Education Cess (D) 31%

(10) The deducter of tax at source from interest is required
to issue the T.D.S. certificate in following prescribed form
before the end of April of the relevant assessment year :

(A) Form No. 15 (B) Form No. 16A
(C) Form No. 16 (D) Form No. 26

(11) Which of the following Charge/Cess is to be deducted
with tax while making the payment of interest to the

Indian citizen ?
(A) Surcharge (B) Higher Education Cess
(C) Education Cess (D) None
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(12) On how many services the service tax were imposed
during first year ?

(A) Zero @B 1
©) 2 ®) 3

(13) Which of the following works may not be included in
services ?
(A) Stock broker (B) Telephone service
(C) General Insurance (D) A Provision Store

(14) Service tax is which type of tax ?

(A) Dairect tax (B) Indirect tax

(C) Both of the above (D) None of the above
(15) What is the Index number of 1978 considered ?

A4) 80 ®B) 90

(C) 100 O 711

(16) Full form of T.D.S. is...........
(A) Tax deduction and source
(B) Tax deduction at salary
(C) Tax deduction at source
(D) Tax detected at source
(17) Which of the following amount is not deductible from

business income ?

(A) Interest on loan

(B) Interest on loan taken for purchase asset
(C) Interest on capital

(D) Interest on loan taken from friend

(18) Transfer of which type of the following assets does not give
rise to capital gain ?

(A) Residential house (B) Share
(C) Bonds (D) Motorcar
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(19) What percentage of service tax were taken in first year ?

A 8%
©) 12%

B) 10%
D) 5%

(20) What percentage of donation to Recognized institution is

deductible as expenses in business-profession ?

A) 30%
(C) 100%

B) 50%

(D) Not deductible

2 Shri Rajesh of Rajkot a well known advocate is 15
maintaining his accounts on cash basis. He furnishes the
following information for the year ended 315t March 2014 :

Receipts and Payments Account
Receipts Rs. | Payments Rs.
To Balance b/d 11,200 | By Purchase - Office
To Professional fees : Equipments 24,000
2011-12 500 | By Motor car expenses 4,800
2012-13 1,000 | By Office expenses 26,200
2013-14 1,05,000 | By Staff salaries 45,100
To Gifts from clients 800 | By Income tax paid 6,500
To Loan from clients 11,000 | By Interest on Loan 1,100
By Refund on Loan 15,000
By Contribution to
Provident Fund 650
Balance C/F 6,150
1,29,500 1,29,500
Additional Information :
(1) Allowable depreciation on motor car is Rs 1,500.
(2) 20% of motor car expense is for personal use.
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(3) Outstanding fees amount to Rs. 600.
(4) Calculate 10% depreciation on office equipments.

Compute taxable income of Rajesh under the head profits
and gains of business or profession for the Assessment Year
2014-15.

OR

2  Shree Manish Talati has prepared the following Profit and 15
Loss Account for the year ending 315t March 2014 :

Profit and Loss Account

Dr. Cr.
Particulars Rs. | Particulars Rs.
To General Expenses 6,500 | By Gross Profit 1,63,200
To Bad-debts 200 | By Discount and Commission 600
To Bad-debts Reserve 500 | By Rent Income 2,700
To Provision for taxation 5,700 | By Interest on Post
To Income Tax 8,500 | office savings' Account 300
To Insurance Premium 800 | By Bad debts recovered 1,600
To Motor car expenses By surplus on sale of shares 7,500

(except depreciation) 10,500 | Profit on sale of machinery
To Sales Tax 5,500 (sold for Rs. 1,000) 100
To Staff Salary 68,500
To Legal charges 400
To Donation to approved

charitable trust 600
To Net Profit 68,300

1,76,000 1,76,000
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Additional Information is as follows :

(1) Insurance premium includes Rs. 300 being Mediclaim

insurance and Rs. 200 being Life Insurance Premium.

(2) 25% of the amount of bad debts recovered relates to the
amount of bad debts not allowed before three years.

(3) 1/2 use of motor car is for personal purposes and the
written down value of the car as on 1.4.2013 was Rs.
25,000 (Depreciation rate 15%)

Compute his total taxable business income for the Assessment
Year 2014-15.

3 Compute the capital gains chargeable to tax of Shree 15
Mahesh from the following for the A.Y. 2014-15.
(Cost Inflation Index of 2013-14 is 939)

Sr. | Date of Selling |Transfer Cost Particulars Index of
No.| Purchase |Price Charges Rs. of assets year of
Rs. Rs. Purchase
1 1.1.68 30,70,000 | 9,000 3,00,000 Only self-occupied house 100
2 1.6.05 4,00,480 — 1,59,040 | Shares of "R" Ltd. 497
3 1.3.94 1,97,000 | 6,000 73,200 | Shares of "A" Ltd 244
4 1.9.85 28,90,1001 11,000 3,99,000 | Jewellery 133
5 1.1.13 — — 2,02,000 Residential house —
for self occupation (new)

He had sold old self-occupied house on 15.3.2014.
The Cost Inflation Index of financial year 2013-14 is 939.

On 1.4.81 the fair market values of self-occupied house and
jewellery were Rs. 3,00,000 and Rs. 1,80,000 respectively.
Shares of both the companies (sold on 1.11.13) were subject
to securities transaction tax (STT).

OR
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3  From the following particulars of Income of Shri Dinesh 15
determine his income under the head capital gain for the
Assessment Year 2014-15 :

(1) Shri Dinesh had purchased a residential house for
Rs. 1,33,000 on 1.1.86. He sold this house on 1.4.2013
for Rs. 14,00,000. This was the only house owned by
him. A part of the sale proceeds was utilized by him
for the education of his son and Rs. 6,00,000 was used
on 31.12.2013 to acquire another residential house.

(2) On 31.12.2014, he sold some of the securities for
Rs. 2,03,175 which were purchased by him on 1.5.84
for 17,400. Rs. 25,000 of the sales price was invested
on 1.2.14 in 3 year Bonds of NHAL

Relevant Cost Index for long term capital gain are as follows :

P.Y. 1983-84 116

P.Y. 1985-86 133

P.Y. 2013-14 939

4  From the information given below calculate the taxable 10

income from other sources of Shrimati Rekha for AY.

2014-15 :

(1) Interest on redeemable debentures Rs.
(T.D.S. rate 10%) .ccoooeeeeiieieee e 7,200

(2) Preference share dividend...................oevvvvvennnnnnnn. 30,000

(3) Interest on SECUTILIES .......ccoieiiiiieneiiiiiiieeeeeieeeeens 5,000

(4) Interest on Municipal Corporation Bonds ........... 2,500

(5) Interest on foreign government securities........... 7,000

(6) Diavidend ........oooomiiiiiiiie e 700

She paid Rs. 400 for collecting interest and Rs. 1,000 for
collecting dividend as bank commission, paid Rs. 400
commission for purchase and sales of shares.

OR
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4  From the information given below, calculate the taxable 10

income from other sources of Shrimati Sonali for AY. 2014-15.

ey
)
3)
4)

()
©6)

Rs. 80,000 — 10% debenture of "R" Ltd.
Rs. 80,000 — 10% debenture of "S" Ltd. (T.D.S. 10%)
Rs. 80,000 — 10% tax free debenture of "G" Ltd.

Rs. 80,000 — 10% tax free debenture of NK Ltd.
(T.D.S. 20%)

Interest on Tax Free debenture - Rs. 3,000
Interest on Tax Free debenture Rs. 6,000 (TDS 20%)

She paid bank commission Rs. 800 for collecting interest on

tax-free debentures and Rs. 500 for interest on loan taken for

purchase of debenture.

5 Write short notes : (any two) 10
(1) Service tax
(2) Settlement commission
3) Grossing up
4) C.B.D.T.
(5) Income Tax Officer.
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